ST UDY LCENTRE

APTITUDE AND MENTAL ABILITY & CURRENT AFFAIRS

1. Performance of students in an examination

\ Marks 40 and above 30 and above 20 and above
out of

Subject ™

Tamil 9 40 74

English 5 30 65

Aggregate 6 39 70

The percentage of number of students getting at least 60% marks in English
over those getting at least 40% in aggregate is approximately.
a.43% b. 41% c. 50% d. 45%

GxiTailed LomewToUTH6M6T OFUICOLIT(H:

40 BEID | 30 WHBHID DSBS | 20 LHBBID  DIBBEGS
15BE& Bwed | BGed Guoed

9 40 74

5 30 65

6 35 70

EIBVSHH GOBHHULFID 60% HICUeE GUBB WTemeuTHemen  FyTafluied
GophbaUL gD 40% wHAICUT CuBB WTeTECMTE QULIBmBUTD Hlewl &ELD
LomewtalTeelelr FHaldlFHld eleitent?

a.43% b. 41% c. 50% d. 45%

2. In a class of 60 students, each students shakes hands with every other
students. The total number of handshakes is
a. 3540 b. 3600 c. 1770 d. 3540

60  LOTEUTEUTHGT 2 616  QUGLILN6D,  6lI0leum(h  LOTEWIGU(HID  LOBM  6T6060T
LOTEOTEUTHEHL BT 0F GHNHHBTTHET. OOTHSH MEBHEHeVISHBEOHEI6I 616501601 56N 5.

a. 3540 b. 3600 c. 1770 d. 3540
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3. The population of a village is 7000. It increases by 8% during the first year.
During the second year, it decreases by 25% and increases by 20% during
the third year. What is the population after 3 years?

a. 6720 b. 6804 c. 7102 d. 7300

QH BTSN 1bHH6MOHTmSE 7000. (IpHEOTD SLeWIH 8 FHAIHID DIHHMNHHMBS,
@rewiLTd SLewi(h 25 FHAIBHD GMOBHMBSH OBBID CPSBID 6wl 20 FHAIHLD
P HNSSHBHI. ObH HITOSHIH T LHE6T CHTEND CPHIDI  DMIBHBEHEHS LIBG
616116161T6Y?

a. 6720 b. 6804 c. 7102 d. 7300

4. A car travels a distance of 715 kms at a uniform speed. If the speed of the car
is 10 kmph more, it takes 2 hours less to cover the same distance. The
original speed was

a. 45 kmph b. 55 kmph c. 60 kmph d. 65 kmph

QM &SI 715 &b HMTHMHH @CF Fymen CaussHdHed &L HHBEH. iH6eT Beusbsd 60
10 kmph &@EWE utds 96 HIIHmE 2 WNCEIIPL  (PEIMBHTS
HLHHBOHMM6D DIHET 2 _6uiTenioimen GeusbsLd

a. 45 kmph b. 55 kmph c. 60 kmph d. 65 kmph

5. The greatest four digit number divisible by 15, 25, 40 and 90 is

a. 9600 b. 9000 c. 9400 d. 9200
15, 25, 40, 90 elediB3 6T60IH6NTEL UGUGBD, WSICOUTWw BTG SevdHd 66wl 61%H?
a. 9600 b. 9000 c. 9400 d. 9200

6. In computer processor each machine cycle consists of four operations. They
are
a. (i) delete (ii) add (iii) sub (iv) mul
b. (i) fetch, (ii) decode (iii) execute, (iv) store
c. (i) store (ii) mul, (iii) flip-flop
d. (i) fetch, (ii) mul, (iii) add, (iv) sub
QM Senlell OCFwesdhHer eeleumm Oumpsl &iwBdAub, bHrer OFuIeOLITBHMmETS
O@BTemI(BETeNEH.  DIENAUUITEGT:
a. (i) delete (ii) add (iii) sub (iv) mul
b. (i) fetch, (ii) decode (iii) execute, (iv) store
c. (i) store (ii) mul, (iii) flip-flop
d. (i) fetch, (ii) mul, (iii) add, (iv) sub

7. During a period of decline a Stock Market prices a stock sold at Rs.50 per
share on the first day, Rs.40 on the second day and Rs.25 on the third day. In
investor bought 100, 120 and 180 shares on the respective three days,
average price paird per share will be
a. Rs.35.75 b. Rs.38.33 c. Rs.34 d. Rs.28
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umGFFhms Fllalear Curgl @ URISE allened h.505G (WHeo alBLIEHGTULITEISI,
@rewILmD [BIeT H.40, CLHIBID BI6T (H.25 DYGW. (WHeOLLTenT eheuT 100, 120,
180 umiGdemen (WeBOW cpeIBl BT H6NM60 GUTHISIITT. eJeled UmIHer Fyma
allenevenuids SHTeIb.

a. Rs.35.75 b. Rs.38.33 c. Rs.34 d. Rs.28

8. A motor cycle costs Rs. 40,000 when it is brand new. At the end of each year
it is worth 4/5 of what it was at the beginning of the year. What is the
motor cycle worth when it is 3 years old?

a. Rs.16,000 b. 25,600 c. 20,480 d. 24,820

UAHSTE eummisIul L Gorl LT ewgsdler eemlear alemsv Rs. 40,000 geiGeums
SLETHID DIHET alened aumhdw alenevenuwl ol 4/5 s Gomdmal. eafed 3
W BH6NT HPHH GCT LIT engdHdlenet alened 61616’

a. Rs.16,000 b. 25,600 c. 20,480 d. 24,820

9. 3 men can finish a work in 6 hours. If there are 8 men, for how much hours
they should work to finish 4 times previous work?

a.4v% b.9 C. 6% d.2 VY

R Gouemevenws 3 GuT 6 wewll GCBIHHe0 OFuIgk wlT. £18p Gumem 4
wLmIEG Gouemevenws 8 CUT 615HHeW6dT LDWTNGHISHH60 (LIQLILIT?
a.4% b. 9 C.6% d.2 %

10.In a certain office, % of the workers are women, %Of the women are married

and % of the married women have children. If % of the men are married and

% of the married men have children, what part of workers are without
children?
a > b. 4 o X d Y

18 9 18 36

RH  DVIAIBHHHL  LenlwmenTdefled 360 1 UGH OUeHIH6T.  DIQUTHETH6IT
UTHIGUT  FH(HLOGILOTEIITHT.  @aITHEHeT 360 1 UGHUWISIHESG GLOHDHHEI
® awi(h. DLEWIHEHOT 460 3 LGHUIIT LOGILOTEIUTHEMETUID  DIUTHEH6T 360 2
UGHWISHESH  GWHmBHET — DHHSTOID — HDEHHwIL  lemaydbeflled  6lhdH
Sl T60T LIGwTWT6NTH6T aLICUBI E60L60TSHEUTHETTEUT?

5 4 11 17
a. — b. - c. = d. =—

18 9 18 36

11.Three friends J, K and L jog around a circular stadium and complete one
round in 12, 18 and 20 seconds respectively. In how many minutes will all
the three meet again at the starting point?
a.b5 b.8 c.12 d.3
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J, K ioppid L eteti  mewiuitde @b aul Lalgel e0CLIQUISHNSH @ (LpedB &S
UBHUSDBS (WweopBGur 12, 18 wwBmid 20 OETYSE6T 61(hHHISE0ST6TEH BIB6IT 616360
ewIBD  Sibepa(HD  OBHTLMISW  Leieuled &FHHILSBG oeeleuene] HBIOL M6l
DGLW?

a.b b. 8 c.12 d.3

12.1f TIGER = % BUFFALO = % CROCODILE = gthen ELEPHANT

5

a. —
6

b. 5 C.
8

aglw

4.3
8

13.A cube has six sides of different colours. The red side is opposite to black.
The blue side is adjacent to white. The green side is adjacent to blue. The red
side is face down. Which one of the following would be the opposite to
green?

a. Red b. Black c. White d. Blue

RH SOFHTHDHT LHBHIH6TL OousiGoum HmmiGeT LLFUIUL (HeTermer. SleuliL
UsbSHHMBEG 6IHTTE SWILL BHBIPD, Hev HBHHMBE USHFBIONE OeleiTeneT HIB(IPLD,
UFMF BHIBSHHMBE USSWOTS [Hev HBWWD, dFeully [HBD &SPl LGSHulevid
SIMLHBHIGTENSHI, 6leNed LFNF HMHHBEG 6IHT USSHIOTH  DIHIDHSIGT6N  HIBLD
o1&1?

a. dleuliy b. sy c. Geusitener d. peuid

14.In a tournament 14 teams play league matches. If each team plays against
every other team once only then how many matches are played?

a. 105 b. 91 c. 85 d.78

R Gumiuied 14 Sewilulerm 65d oL mselled allenemuimBalemBeiT. eealCauT
S BB lenlsenlal @8y  @hpems WL G GrgidaisetT  eTemled
QTHFLD 6l6leU6Ne] 605 S L MIS6T allenemumL LIL(haleipen?

a. 105 b. 91 c. 85 d.78

15.40 men can build 60 rooms in 8 days. If 8 men leave the job how man rooms
can be built in 12 days?
a. 63 b. 72 c.74 d.76
40 g FHeim 60 EOBIEMET HLIg (PSS 8 BT LH6T YPIBH. DHeVHHSH 8
S &6l alleudleimed, 12 BT H6i60 6T6l6U61T6)| DIMBHEMET Sl 19 (LPIQLILIT?
a. 63 b. 72 c.74 d.76

Directions (Q.No.16): The bar graph provided below gives the data of the
production of paper (in lakh tones) by three different companies X, Y and Z
over the years. Study the graph and answer questions that follow.

S8 OCaET@ssiu _Beten Uil  elassUULSHD  &TEHH 2 BusHH  QFulud
Bppieuemiset X, Y, Z (BLF Leiseaied) OarBadasiul(herengl. ULGHMmS balG LIgHdl
SpsaeniL alamalBg alenL wierfl.
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Production of Paper (in lakh tonnes) by Three Companies X, Y and Z over the Years
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16.What is the percentage increase in the production of Company Y from 1996
to 19997
a. 30% b. 45% c. 50% d. 60%
pmleuerd Y &1 2 BusbHd 1996 edmbad 1999 euemy eleileuene] FHelsh o wime]?
a. 30% b. 45% c. 50% d. 60%

17.The number 311311311311311311311 is :
a. divisible by 3 but not by 11
c. divisible by both 3 and 11
311311311311311311311 616813 6T6%T
a. 39160 UGUDBLD HLeoTmeL 118160 UGLIL TSI
b. 119160 u@GUBID SLETTEL 39160 EUGLIL TSI
C. 3 wmmid 11860 uGUBLD
d. 3 B@Id 1189560 UGLIL TSI

b. divisible by 11 but not by 3
d. neither divisible by 3 nor by 11

Directions (Questions 18): Study the following graph carefully and answer the

questions given below:
Hereumd uLSHemenr LigHH alamalBg ealenLwier

Distribution of candidates who were enrolled for MBA entrance exam and the
candidates (out of those enrolled) who passed the exam in different institutes

ab.V.g HMPNGHCHTaIBETE OeusiGoupl Heval MHpleuamideaiso uHey OFUIS
oTewieTHeledr  elamiewibamauled  CHTFd  Qubp  wTewTeuTHelNaT  eTeNiTewlbenD
el L alenssliuL 5560 OaTBHSLILL BeiTengi.
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Candidates Enrolled = 8550 Candidates who passed the Exam = 5700
uFey Qsuix wreweuTseT = 8550) (CxiT&Fd QUMD LOTEWTEUTSEM6 6lewIwISMB= 5700)

R |1 Q
13% | 17%
S
16%

T
9%/ Vv
156%

R |1 Q
10% | 16%

18.What percentage of candidates passed the Exam from institute T out of the
total number of candidates enrolled from the same institute?
a. 50% b. 62.5% c. 75% d. 80%
T a6 seval FHipleuanshHed CaHTEFS GLUBMB LoTewTEUTSH6NT6HT 616301601 BN HUITEIHI,
9165 @eval PpeuSISHed UFHey CFUIFH  WTewTeTHeMeT  eTenTenildemaullsd
G1616U6NT6)| FHAIHLD?
a. 50% b. 62.5% c. 75% d. 80%

19.A can finish a work in 24 days, B in 9 days and C in 12 days. B and C start
the work but are forced to leave after 3 days. The remaining work was done
by A in:

a. 5 days b. 6 days c. 10 days d. 10 %days

@0 Geouemevedws A 24 priseied, B 9 priiseleud, C 12 prlsefisb
wysHeamert. B wppib C o6iGaimevenus GHTLRIES 3 BT &HEHHE DIUTHEIT
alevdlw iy A Wi BD Helwns  WBgHpsiTen  Calemeved! (PI9Hd  615HFHM6I
BT 6T LGLD?

a. b Bl Helt b. 6 BT Beit c. 10 pm_mei d. 10 %Lr;rn'_asaﬁ

20.Which of the following gives a clear picture (shape) of the characteristics of
a distribution?
a. Skewness b. Central tendency

c. Dispersion d. Kurtosis

SLEHEMIL BNl 61hFH  DITENGULITRISHI Liaueilest GGHerileumen euem6TeUen] U6l
LIGRIL|B6m6NT  Si6VHaIBaI?

a. Gam' Lib b. ewwwGETEG SieTenel

c. FHmed SleTen6y d. s enuwieney
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21.Mention the name of the graph?

20

20 35 40 45 50 BS a0 a5

a. Histogram b. Frequency curve

c. Frequency Polygon d. Lorenz Curve
GuoBsTemid alenILL SHH 6T GUwiflenst gnpl

a. ugeued OFeleus LILLD b. PaCeaiewt almenCsT(H
C. HHPO6IeNT LIevBHT6uwID d. eungeiierd eumeNBHT(H

22.Find out the least number which when divided by 2, 4, 5, 8, 9 and 12 leaves
the same remainder 1 in each case.
a. 361 b. 481 c. 360 d. 541
@1 etemwiewet 2, 4,5, 8, 9 wBmid 1260 au@sHGw BCurg @ealGeutaied W5 1
S 5B, BHGHOBHSH 6lewwienanid HewlbBLIg:

a. 361 b. 481 c. 360 d. 541

23.Value of x lies between 0 and 1. Write the following values in ascending
order.
1.1/x 2.1/x2 3.1/x3 4. x 5. x2
a.3,2,1,4,5 b.5,4,1,2,3
c.3,1,4,52 d.4,5,3,2,1
X ei@iug 0-5@b -G GLuled 2 6fTendl. SHDoHHmILuiBemm  guiauflenguised
QIEAE:
1.1/x 2.1/x2 3.1/x3 4. x 5. x2
a.3,2,1,4,5 b.5,4,1,2,3
c.3,1,4,5,2 d.4,5,3,2,1

24.Village X has a population of 68000, which is decreasing at the rate of 1200
per year. Village Y has a population of 42000, which is increasing at the rate
of 800 per year. In how many years will the population of the two villages

be equal?
a. 12 years b. 13 years
c. 14 years d. 11 years
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X 6B &ImosHHer 10HH6M0HTend 68,000. BHIEG LHHMOHTMHUID SLWIHDHE
1200 @opdpzs. Y  aam  HmosHer  wdbseToHTens 42,000 @b
D&HHETOHTHUND eWIBHG 800 HENEHIBHI. THHM  DLeIHBEHDHE)
LIB@ Beualyeni(h WdHHeTOSHTHmHUID FLOWTS E(HHGLD?

a. 12 sewihael b. 13 gyemiBamei

C. 14 syewiBamein d. 11 semGaser

25.243 has been divided into three parts such that half of the first part, one-
third of the second part and one-fourth of the third part are equal. The

largest part is:

a. 74 b. 86 c. 92 d. 108
243eq  cpeiipl  eldFmIBeT Ufld@gd Gurgd  wHed uGHulet umgl UL,

BrewiLTeugl LG ullesr %urras@oLb, CLOSIBTOUGH!  LIGH Ull6or %urr&,(y)ﬂ) FIDLD  6T60160,
Wsleuiw u@guller WHIIL] ereten?

a.74 b. 86 c. 92 d. 108
26.Match the following
A. First quartile 1 =%
O; + 9
B. Inter quartile Range 2. nT+1
C. Semi inter quartile Range 3. 0,-¢,
D. Co-efficient of quartile deviation 4. %
A B CcC D
a. 4 1 2 3
b. 1 2 3 4
C. 3 4 1 2
d 2 3 4 1
CUT(HS SIS
A. 60 HTEOLDTEILD 1 %G
o2 0 + G
B. @ sameoomen aiFa 2. nT+1
C. 9] B bBTeOoneT aiFd 3.0,-Q,
D. smeowrer alevdss6sLy 4, B—% ;ql
A B CcC D
a. 4 1 2 3
b. 1 2 3 4
C. 3 4 1 2
d 2 3 4 1
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(Q.NO: 27) A box contains 6 red, 4 blue, 2 green and 3 yellow balls.
@@ Ouliguied 6 Feully, 4 Hevd, 2 LFMHF WMBBID 3 EHF6IT LIHGHIH6T © _6iement

27.1f two balls are picked at random, what is the probability that both are red?
1 1 2 1
a. = b. = — d. =
6 3 15 7
Brenih UbHH6T IbHGD Curgd Seuelgenihd HeO BB UbHSTE GS(HUILISBSTET
BBDHH6| 616516017
a. = b. 2 2 d. 1
6 3 15 7

28.Four coins of same size are placed on a table so that each coin touches the
other two. Find the area of unoccupied space between them, if radius of
each coin is I cm.
a. 4 cm? b. cm? Cc. (4-7) cm? d. (z-4) cm?
261 SleNaeiTenn HT6IG HTEWILIMIGET, 6IOEUTEIBID LOBB EF6wI(B [HT6MIULIKISM6NTH
OaTBLTL 6 Gweng BH MeausbSLILGS GBI,  DbH @IOUT(H [HTEwIULISH 6
I 1 OF5 ereled, SIbSH HIMIWLRISEHHGH LB HESTLOSSILILTIDED
BmEHSGID Bl Geuelll LGHuller LTLIL6eTe] 6leoTenT?
a. 4 Qg2 b. G52 C. (4-7) Gz152 d. (7 -4) Q152

29.The area of circle whose radius is 5 cm is trisected by two concentric circles.
The ratio of the radii of the concentric circles in ascending order is

a.1:2:3 b.1:2:4 c.1:42:43 d. V2:\3:6
5 Q515 paHmP JOTHS OBTWIL @h UL SHer LJliLene Seni® CuTg
oWl eIl L migenTed  cpeprall  LfléasliubaSng. oh» OCurgk  emoul
ol Lmisefler oumiseflen aldsd gm auflenguiled eeieuTy SmHeEGD?
a.1:2:3 b.1:2:4 c.1:42:43 d. vV2:3:\5

30.Two cross roads, each of width 5 c¢cm, perpendicular to each other, run
though the middle of a rectangular field of size 80m x 60m. The cost of

gravelling the roads at the rate of * 10 per square metre will be:
a. 6500 b. 6750 c. 7000 d. 7250
80 1S LT mempb 60 LT 9IH6e0pld OBTewiL @(h OCFeliaus euge Hlevd s e

mOWSHHe0 5 CFIS 9IHevD CBTewIL BTWIBH GBISGHF FTMELH6T e6IMISHOIBTRIN
CemEGHaTe el ysF OCFOSHaBer. DbHHF FTMELHM6T FTM6NdH HBHEM6ETSH

Q&Tewi® BIILSBEG @b F&I7 W LBSE 10 aisld eeaene 0F6e SLEGLD?
a. 6500 b. 6750 c. 7000 d. 7250

31.A path of uniform width runs inside a rectangular park 40 m by 30 m. If
area of the path is 384 m?, the width of the path is
a.3m b.4m c.o5m d. None of these
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40 8 menupdb 30 15 SIBOUPD OFHTEWIL  @hH OF6leus  algel  LLKISTEN6T
2 LugdHuled @By FJmer DIFVHMBHH OCFBTMIL (h UTMEH 6F0SHBH. Db
urenguiles Lglileney 384152 elafled, SIHHLI LTHSHUNGT DIFH6VID 66116166, ?

a.318 b. 418 c.518 d. Beaumnflev e1HIaL60MmM6V

32.A hall is 15 m long and 12 m broad. If the sum of the areas of the floor and
the ceiling is equal to the sum of the areas of four walls, the volume of the
hall is:

a. 720 b. 900 c. 1200 d. 1800

RH LGS Hemd 12 15 1oB@ID SiBeod 12 15,  DHpHD Tl HH  HO]
wppid  CuoBameny  SSlwaBBlar  uFluaEeTel  FmBHHeD, DHDHD  Fnl 56
BTG SalTseler UTLUTaHeNeT FmBHNbGHF FIOW.  6laled Db Fnl HIH 6T
BT S6TI6Y:

a.720 153 b. 900 153 c. 1200 153 d. 1800 53

33.The radius of the base and height of a cone are 3 cm and 5cm respectively
whereas the radius of the base and height of a cylinder are 2 cm and 4 cm
respectively. The ratio of the volume of the cone to that of the cylinder is

a.15:8 b. 45:16 c.15:16 d.1:3

Q(H gnlDlleT SIQlILTES U LB o wrb wosBGw 3 G5 B 5 6F5
G, LML @(hH 2 _(Hewenule SIQUITS SLJID WBXID Wb  (1penpGui 2
CFf wBEID 4 OFI5 YGW. SIS T 66| WBWID 2 (HeneTule et
SleedhG Bevl Cuiwimer alldHD eTedrent?

a.15:8 b. 45:16 c.15:16 d.1:3

34.A cylinder of diameter 60 cm is filled with some water. A sphere of diameter
30 cm is completely submerged into this water. How much water level in
cm is increased?

a.2 b.3 c.4 d.5

60 G5 @l Lib O&TewiL ¢@H 2 (Hewelm HewiewiT Omewi(y BFiLLLGSHBSH. 30
Cg5 el L Garewi @ GCHmend OIHHH HewiewifeD (WH(PAUSIOTS (PG SBSI.
Hewieni et Dieney e1HHemenr OFIS o wWiTHBGI.

a.2 b.3 c. 4 d.5

35.1f the volume of a sphere is divided by its surface area, the result is 27cm,
what is the radius of the sphere?

a. 9cm b. 27cm c. 8lcm d. 243cm

Rm GCamendhaler ST Slee] DiH@ienl Ul  CoBuIliieanmed aGdHslulLTe0, 27
Qa5 e1aliB ol SHleWLSHHBHI. 61660, DbHHDH CHTETSHH 6 SLILD 6666 ?
a.9 Qa1 b. 27 Q&8 c.81 Q&1 d. 243 Q&8
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36.The value of x3/24x/2’5\/2_6 is:

5
3

a.2 b. 2 c. 2° d. 1
G| HIT6wT: J22°V2
5
a.2 b. 23 c. 2° d. 1
37.Product of two algebraic expressions isx’(a+b+c). If their HCF is x*, find
their LCM
a. xX’(a+b+c) b. x(a+b+c) c. x*(a+b+c) d. x?

Brewi®  eleawideien  GLIHSBMBLIEVET X’(a+b+c) Bmaimeia B0 X aefisd
15.8.10 SHmewIsh
a. x’(a+b+c) b. x(a+b+c) c. x*(a+b+c) d. x?

38.The interest on a certain deposit at 9.5% p.a. is Rs.380 in one year. How
much will the additional interest in one year be on the same deposit at 11%
p.a.
a. Rs.140 b. Rs.60 c. Rs.200 d. Rs.80
Qb GUUULL ey 1B& @h WWbHG 9.5 FHAIFHD 6B aiHHHeO @
SLIBHBTET  allg  (H.380 SLGLD. 968 eeully 18%H b pewihdHG 11
FHAHD 6l Uy HHHEL @MH DEWIYL AUGISIILBLD  Fn{BHHe0 ULl
616116)61T6)] 7
a. Rs.140 b. Rs.60 c. Rs.200 d. Rs.80

39.A man deposits a certain sum in a bank. He gets 5% per annum interest for
the first 4 years, 7% for next 2 years and 12% beyond that. If he gets
Rs.28,000 as simple interest for 9 years, how much money did he deposit in
the bank?

a. Rs.29000 b. Rs.35000 c. Rs.37500 d. Rs.40000

@ BUT @ GUEUILL OCFTendemw @@ eaumidSuled eeulll] QFUISTT. D6
WHD 4 AWEEMES, JWEEG 4 FHeIBD  aLpup, BSS 2
SMIBBEHEG 7 FHale eallud, SBGL UBg 12 Fpels  euligujd
CUE@ISIWTT. ST 9 ewih STeVHHD Heoll el lguins  5.28,000 OLmISBITT
GTIMBTED, ST aumSuUled eweulll] QFUIH OHTenS 6l6laI6Te 7

a. Rs.29000 b. Rs.35000 c. Rs.37500 d. Rs.40000

40.In what time will Rs.2500 become Rs.2601 at 2.% per annum compounded

annually?
(h.2500 SueiFHl, UMIBHG 2 FHAIFHD ewiB LB eully  DgliLenLuley,
T5HHM LewI(HB6eN60, H.2601 &% LTBID?

a. 1year b. 2 years c. 1 %years d. 3 years
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41.ASCII has how many codes
a. 64 b. 128 c. 256 d. 382

42.Data moves through the network in a structure called
a. Payload b. Payback
c. Packets d. Datagram

43.Who invented mail system and @ symbol for addresses

a. lan Murdock b. David Bowie

c. Paul Buchheit d. Raymond Samuel Tomlinson
44 USB is type of storage device

a. Primary b. Secondary

c. Tertiary d. Auxillary

45.Which protocol is used to received e-mail
a. SMTP b. POP3 c. HDN d. FIP

46.A library has an average of 510 visitors on Sundays and 240 visitors on other
days. The average number of visitors per day in a month of 30 days
beginning with a Sunday is
a. 250 b. 276 c. 280 d. 285
Q(H HITeVBHHL EHTUIBMBISSIpemDEeled 510 UTTeneUWITENTHEHLD BB BT SHeifled
240 umTeDEUWITeNTHEHD  FITFAWTE 2 6iTeneT.ehTUIBBIGH DM  GHTLMIZE 30
BTLH6T OFBTWIL @(h LISHSHH0 @ [BIaMed UHLD  LIMTeneUUIT6NTS6N 60T
gmafwmergl

a. 250 b. 276 c. 280 d. 285

47.The product of two positive numbers is 120 and the sum of their squares is

289. The sum of the number is :

a. 20 b. 23 c. 169 d. 26

Breni(h elewidenel GUmBBEBLeVET 120, Bemeauseen eUTHEmIS6NET FmBHL 289
aefled @DeIelTewi(h 6TeRIHTT Fn(BHFHEO SHTEITH

a. 20 b. 23 c. 169 d. 26

48.A boy had 85 currency notes of Rs. 100 denomination and Rs. 50
denomination totaling Rs. 5000 in all. What was the amount of Rs. 50
denominations he had?

a. Rs. 2250 b. Rs. 3500 c. Rs. 1500 d. Rs. 1250

¢.5000 ogllidleomenr 85 eremienildemaulevmen qpuUTUI GBHTL(hHelled Fov GBI (HH6I
qh.100 HIID Hev GBI (BBeT .50 WHIINID  BHHSHAT  6Telled  (h.50
wallleorer GHTL (Baelen erewrenlldbema 6166 ?

a. Rs. 2250 b. Rs. 3500 c. Rs. 1500 d. Rs. 1250
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49.Five children A, B, C, D and E are sitting in a row. D is sitting next to A but
not E, B is sitting next to C who is sitting on the extreme left and E is not
sitting next to B. Who are sitting adjacent to D.
a.Band A b. Aand C c. Only A d. Aand E
A, B, C Duppio E aaiB :mbg GWOHMSH6T @h auflengduled SIOTHE)(HHSH6TT.
D eeaim A-dg SmpId e E-b@ oimded ommid, B eremueut
euaflmgulea @ gIBsmouled oThAMHES C-H@& DAHBO DIUDTHSHHSBTT
g E - eaueim B-é@ oipdled oppid  ouoihdehaned D-é@  oimaled
SIDTHSI(HUILIST WImiT?
a. B ommib A b. A wmsgib C c. A o (b d. A wppib E

50.1dentify the letter in the sequence:
CMWG?
a.P b. R c.Q d.S

51.Who has been awarded the ‘Central Board of Irrigation and Power Award’
for his contribution in the power distribution sector?
a. Archana Nigam b. Arun Jain
c. Sambasiv Rao d. Praveer Sinha

52.”Khullam Khulla” is the autobiography of which actor?

a. Rishi Kapoor b. emraan Hashmi
c. Ranveer Singh d. Ranbir Kapoor
53.Which country has launched its longest high-speed train ‘Shangri-la of the
World’?
a. Japan b. Germany c. China d. USA

54.What is the name of the India’s first ever solar powered boat, which was
launched at Kochi’s Vembanad lake in Kerala?
a. Rahul b. Aditya c. Nikhil d. Ankit

55.India’s first Madame Tussauds museum to open in which city?
a. Mumbai b. Pune c. Bengaluru d. Delhi

56.Continuing a yearly tradition, US President Barack Obama signed a
proclamation to declare which day as ‘Religious Freedom Day’?
a. January 14 b. January 15
c. January 16 d. January 17
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57.Which country inaugurated its first ‘robot pharmacy’ recently?
a. India b. UAE c. USA d. France

58.Which state inaugurated ‘Digital Dakiya’ scheme to encourage cashless
transactions?

a. Tamilnadu b. Maharashtra
c. Bihar d. Madhya Pradesh
59.What was the name of India’s oldest first time voter, who died recently?
a. Intizar Hussain b. Ustad Rashid
c. Balaram Jakhar d. Asgar Ali
60.Recently, who has been awarded Infosys prize 2016 in humanities?
a. Umesh Waghmare b. Jonardon Ganeri
c. Sunil Amrith d. Amit Sharma

61.Recently which country has started 1st solar powered road in the world?
a. China b. USA c. France d. India

62.In which of the following city PM Narendra Modi has inaugurated the
Nobel Prize series exhibition?
a. New Delhi b. Hyderabad
c. Bengaluru d. Gandhinagar

63.The world's largest single rooftop solar power plant has been opened in
which State of India?
a. Punjab b. Rajasthan c. Gujarat d. Odisha

64.Which country launched the world's largest and most powerful vessel
project 22220 dubed Arktika?
a. Russia b. Germany c. Ukraine d. France

65.Which Parliamentary Committee has been constituted to examine merger of
budgets?
a. Kamal Nath Committee
b. Ramesh Jigajinagi Committee
c. Veerappa Moily Committee
d. Ashok Chavan Committee
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66.Which committee has recently submitted its report on New Education
Policy?
a. TSR Subramanian Committee
b. Ashok Dalwai Committee
c. JS Rajput Committee
d. Sudhir Mankad Committee

67.Which force has exercised the Disaster Relief Exercise 'SAHAYATA' in
Gujarat on September 14, 2016?
a. Indian Navy b. Border Security Force
c. Indian Air Force d. Indian Army

68.What is the name of India's latest communication satellite launched
successfully on October 6, 2016?
a. GSAT-19 b. GSAT-18c. GSAT-17 d. GSAT-16

69.With Inclusion of India, the Missile Technology Control Regime (MTCR)
became a group of how many nations?
a.29 b. 35 c. 48 d. 52

70.What is the name of "Supercomputer which is launched by the Union
Human Resource Development Minister Prakash Javedkar at IIT-Guwahati?
a. PARAM-ISHAN b. SARAM-ISHAN
c. PARAM-USHAN d. SARAM-USHAN

71.Identify the super computer that was declared as the fastest in the world by
the TOP-500 list

a. Tianne-2 b. PARAM Yuva-II
c. Titan d. Sunway Taihulight

72.India's first integrated Defense Communication Network (DCN) has been
launched in which of the following cities?
a. New Delhi  b. Lucknow c. Ahmedabad d. Kochi

73.India has been declared Free from which influenza?
a. Bird Flu b. Chikunguniya
c. Both of these d. None of these
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74. The Council for Scientific and Industrial Research (CSIR) launched country's
first anti-diabetic ayurvedic drug for type two Diabetes mellitus. What is the
name of that drug?

a. BGR-32 b. BGR-34
c. BGR-36 d. BGR-38

75.Which country has been declared free from Yaws and Maternal and
Neonatal Tetanus (MNT) by the World Health Organization (WHO)?
a.Sri Lanka  b. Bhutan c. India d. Myanmar

76.Who has become the first Indian footballer to play in the Union of European
Football Associations (UEFA) Europa League?
a. Syed Rahim Nabi b. Sandesh Jhingan
c. Gurpreet Singh Sandhu d. Sunil Chhetri

77 .Which two States have become the first States in the country to become
declared Open Defecation Free (ODF)?
a. Telanagana, Kerala
b. Andhra Pradesh, Telangana
c. Gujarat, Aadhra Pradesh
d. telangana, Guiarat

78.The 'Scooty for College Girls Scheme' has been launched by, which State
government of India?
a. Himachal Pradesh b. Punjab
c. Haryana d. Jammu-Kashmir

79.Which State was awarded with the 45th Skoch Merit Award and Skoch
Smart Governance Gold Award 2016 held in Hyderabad?
a. Uttarakhand b. Tamil Nadu
c. Haryana d. Jharkhand

80.Which State in India has started a new beat of city police called Pink Police
Patrol aimed at enhancing women's security?
a. Kerala b. Karnataka
c. Tamil Nadu d. Andhra Pradesh
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81.Which of the following States are the first States in India where Integrated
Criminal Justice System (ICJS) will be launched?
a. Punjab and Haryana
b. Telangana and Andhra Pradesh
c. Madhya Pradesh and Chhattisgarh
d. Bihar and Jharkhand

82.Who has been appointed as 'Chevalier de 1'Ordre National de la Legion
d'Honneur — Knight of the National Order of the French Legion of
Honour?
a. Kiran Mazumdar Shaw
b. Chanda Kochhar
c. Arundhati Bhattacharya
d. Raghuram Rajan

83.Who has become the first Asian to be awarded with the Heritage Heroes
Award by the International Union for Conservation of Nature (IUCN)?
a. Bibhuti Lahkar b. Surinder Bora
c. Tanmoy Bhasker d. Sangeeta Singh

84.Girija Devi has been conferred with MS Subbulakshmi Award in the
remembrance of MS Subbulakshmi Birth centenary. She belonged to which

arts?
a. Vocalist b. Dancer
c. Pandavani exponent d. None ot the above

85.Which Indian teenager has won the 2016 Google Community Impact award

from Asia?

a. Advay Ramesh b. Riya Sharma

c. Aadil Khan d. Priyanka Chaturvedi
86.Who was recently awarded the 2016 Pen Pinter Prize?

a. Rail Badawi b. Margaret Atwood

c. Jhumpa Lahiri d. Atul Sharma

87.Indian Prime Minister Narendra Modi was on June 4, 2016, awarded with?
a. Amir Amanullah Khan Award
b. Medal of Aman
c. Desh-ai-Noor
d. Noor-ai-Elahi
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88.Which South India State festival has entered the Guinness Book of World
Records on October 8, 2016?
a. Bathukamma b. Onam
c. Pongal d. None of these

89.Who is the author of the book "Green Signals : Ecology, Growth and
Democracy in India"?

a. Jairam Ramesh b. Parimajan Sethi

c. AK Antony d. MS Swaminathan
90.What is the theme of the 2016 Earth Day?

a. Trees for the Earth b. Save the Earth

c. Save the Planet d. Trees for Life

91.Who won the Mr. Asia 2016 title?
a. G. Balakrishna b. Vishnu Raj Menon
c. Satyan Gnanasekaran d. Narsingh Yadav

92.0n which day Paris Climate Summit came into effect?
a. 2, November 2016 b. 4, December 2016
c. 4, November 2016 d. 6, December 2016

93.Consider the following statements
L Kigali delivers second big climate deal after Paris Climate Summit by
amending Montreal Protocol to eliminate HFCs
II. Complete elimination of HFCs by the year 2050 is estimated to
prevent about 0.5 degree celsius rise in global temperatures by the end
of this century.
III. India, the world’s third biggest carbon emitter after China and the

USA
Choose the correct statements
a. [ III b. 11, 111 c. III only d. All of these

94.Consider the following statements

L ISRO created world record by launching 104 satellites in one go
through PSLV-C37

II.  Russian Space Agency held a record of launching 37 satellites in one
go during its mission in June 2014. India previously launched 23
satellites in a single mission in June 2015.

a. I is correct b. Il is correct

c. Both are correct d. Both are wrong
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95.Who was become the first Indian American Judge to be elected the south-
eastern US state?
a. A K. Mittal b. Nitesh Tiwari
c. Rupen R. Shah d. Alok Kumar Verma

96.Which of the following States has bagged 'Best Horticulture State' award at
the 9th Agricultural Leadership Summit 2016?
a. Punjab b. Haryana
c. Karnataka d. Tamil Nadu

97.With which of the following India has collaborated in implementing 'Water-
4 Crops' project?
a. European Union b. Japan
c. Israel d. USA

98.Which company has overtaken Apple as the most valuable publicly traded
company in the world, in February, 2016?
a. Google b. Alphabet Inc. c. Twitter d. Facebook

99.Consider the following statements
L. Indian origin Shaikh Rafik Mohammed was appointed as Major
General of Kyrgyzstan
II.  Jayapal has become the first Indian - American woman to be elected
to the US House
a. I is correct b. I is correct
c. Both are correct d. Both are wrong

100. Consider the following statements
I.  Saanjhi Saanjh is the first national newspaper for senior citizen
II. BBC Sports personality of the year 2016 was awarded to Andy Murray
III. Sir Garfield Sobers Trophy was awarded to Ravichandran Aswin
Choose the incorrect statements
a. I, 111 b. 1, III c. All of these d. None of these
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